M aﬁwmahbs Eﬂhc\r\@ \ACD} Yo U , 2020

\<Qv1,‘«\ H\d—o\/\\?\w/\ (\ACD Matus [ Staks )

Med - 1o [rnalhs kX [ vam s and TS [ ardnls [malwseapchwelnt

WWW . \v Mo, 1&

O\:ﬁvv\\o\ol A ywblems (xawmples )
=

@DW\&V\QQ {015‘11 P\fwﬁ thok Me g\mojﬁ:w\

LLn+h s wediable  fer vem

______—-—“—'-’_

lgn + 3
Notuweal nuwbdr™ YL,

\—> e 1,23, 9’/§} - -

(_%Q\-JW\S Q\’\\Ra‘ (qqol ,DQ,\’{’NW\\‘AQ &\ nuwbers

\|| ' -
s suen thwat A \S G M\’eaer
ﬂ?-

r\)Vb’O\eMS \A " Numbesr Twm\na“

/
(¢ ’onb(ﬂ/w\s aJoonk wMole V\umb-?-r'S (_\v\\"egg-jS\

(o heur waltios — valiead wumbes )



®

Some  Nuwmbtr tweay Py dlew

Die Hod 2

3 S— Mg e Q.\Cgi__w
L__ \ \/—-—X | L teen.
M atwe md C‘-\\J :

= 4‘. (DM|AA,S JQ\U.\"M\

2.3
—5 ‘ 3 — . 5— ~ 4 (Aﬂ*'ﬁ‘.& salulion )

?)’ \3_ — |0 § =1
l-: Re}fm E . ,Q\,/\A a,l\ FOSS\b(Q
,So\u‘r\os‘/\\g — there ot M‘\‘A(h‘.’(tj V\La.A(J‘ 3




R vt Awde oaq a0 alad J{S

them.
3 B a (mmmn dwisT 9/6 6( IS,

o

M;L_\"\ TARIN ’?\/»‘olew\

Cueen \,_'_V\—} | \_V\\& , wlhtat s
5

/Q, CON 4 weoawe Cmo\ 'Q-\;\OLQMC\'FCB.

Lo Tr poblem i B fad wlegers X, y

n =L
huch hek X o (froet w,n)

L,Q.‘\" Ws Scu.j )\ v olo\i‘axv\ob(@ Q—-
W\ \\/\‘“ews X1 Y uust’




Nole 4 \% A D a omma dwaer @
R X hFaraarle
them, A dindes L a0 ¢ d\ L )

Nolte 2 \Q 9 % obfundsle

_ 1< hec ot wbegn XY =
_ R (\)

X W+ YN

— %"\Q/\ So O M Mug\"'\()\e tQ' 0‘&' 'Q‘

(£ aYeger ).
Why Malhety ) °Y
Gy + g =

t .
Rl

Nire 3 \@ A s obtwnable Raa
%{_A:} w\'(_eXu* ) O"Qk-d*‘?\auﬂ.

Leb o be fre logat commm dunas ok

™, n

g gedn) = hefoum) = (0]

| We wite
€q (3,5') =1
(s 1#) =1
(4,13) =2

(£.1S) =3 ofc.



g =0mn ard b L 0 ofTacee
‘bl\e./\ «Q, wunt be « W\\AU'\pLe Q&_ %

s any wulhple ob- g o Fon oo ¢

\/\ ?(M'" \"I \5 ?\ a,l‘\,;q% Cfbhuj\obll« ?

Answer Yeo, dlways

by Buctids  Algevithm "

Pudd o'% Mlexondna , C« 35S0 BC

/Bas \C }na\g\js\g

Theavew et a, b b2 anqy WwFegecs.

Sugpne b = ta =+cC
LI W C,k‘ u\\"e?trs

T Ca,®) = (a,¢)
/Pf_??.:% P“'\S Curanon. 1o ok a b o

A
& dwuw s C NMACR C = b-ta

L—\\QWM/ aﬂ\(ﬁ CANARL BN dwror &6 a,c 0 akao

A LowmTo Juwanes oh Y = ta+c %



‘ ij\\ QYWMELQ- @

Fiad te qced 21, &5\

/

s1= 221 +4 (0 (214)
11 = 24 +[2) ) (13

3\ q v
Turthermae, we con now fand Mb‘y‘” X
et X210 19851 = 2 (usxg (1)
wd (v) )
(2) Guwe 2 = 2\ - 271
(1) que  § = 21— 2CI7E
L 2 = 5.2) — 25|
Example 363 loo +
Fad cd and  Kprév & e fte
(om x. 703 + ¢ 007
Solution looF = 1703 + 30%



Now
14 = 204 — 395

= 30¢ - 3 (202 — 2-304%)
= F-30% - 3703

~ 7 (lox-303) = 8 ¥03

ﬁﬂl -~ Z-100F — (o 70?1

K 0 = (o) B aluays ‘dofmadie:

\Weorern
(gz 6 5 4w C\)cd G& W™, thea  thee

e)cl_S\— lV\t‘QBb{'S X, Y) WO\’\

o Losr| |9
EXWQS (|7 ¢ 3+

What ongenf $ OME«M«W—? Mearue o

e qcd.
(2) Do Romamia. (1S9 puolu abee.

(3) | owe boFs (3c] and (Bl shomps,

Whalt dwaouals gwj g&f‘g\u\a{b}(b W= 22650

2 »n not luwdd G o owdr--



Lot thesvorn L& vy wh povfamt,

Coi‘o“M/\ -l‘c TW
'Le,’rv 9 = ged (). et 4 be ]
otwes & Comworn diwiror. (B\g defn Fm, "\<‘5-)
\n fack, O\\ N

Mi We. Wouwe g:x""*’;\‘ﬁ

A dade bt termen.




